Principles of Economics – SQE Majors – Third Problem Set

Matthew J. Baker
I. Consumer’s surplus and Welfare

Suppose that the demand for units of rental housing in Annapolis is given by: 
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. Landlords supply units of housing according to the supply function 
[image: image2.wmf]p

q

s

3

=

. 

a) Graph this demand and supply function, and solve for the market equilibrium. 

b) What are consumer’s surplus and producer’s surplus at the market equilibrium?

c) Suppose that policy-makers determine that housing is too expensive in Annapolis, and enact rent control so that housing cannot be rented at more than 300$ a month. What amount of units will be supplied and demanded at this price?

d) What is the total of consumer’s surplus, producer’s surplus, and tax revenues, and how does this total compare to that in b)? What is the deadweight loss due to this policy?

e) Suppose that policy makers impose a $100 tax on each unit of housing provided by a landlord, because they are afraid landlords are gaining income without paying city taxes. What is the resulting equilibrium, and what share of the tax is borne by consumers and landlords?

f) What is the change in welfare due to the tax on rental housing units? Would the result be different if the tax were imposed on consumers instead?  

II. An import problem

The demand for automobiles in the united states is given by 
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, and the supply is given by 
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. The world price of automobiles is 
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a) Graph this demand function, and also indicate the world price on your diagram. How many automobiles are demanded by U. S. consumers, and what quantity are supplied by U. S. producers? What is the amount of automobile imports? 

b) What are consumers’ and producers’ surplus at the market equilibrium?

c) Suppose the government enacts a $2000 dollar import tariff on automobiles. What impact will this restriction have on imports and the price of autos in the U. S.? What is government tax revenue? What are consumers’ and producers’ surplus under the tax? 

d) An import quota of what amount would accomplish the exact same outcome (in terms of imports and prices) as the tariff? Is the quota policy better or worse than the tariff policy? Explain. 
III. *****A more complex international trade problem**** (Problem optional)
The demand for widgets in the fictional country of A-land is given by 
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, while the supply is given as: 
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. The demand for widgets in B-land is given by 
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, and the supply is given by 
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a) What are the equilibrium quantities supplied and demanded in each country if there is no possibility of trade? Which countries do you think would benefit from exporting or importing the good, and why? 

b) Calculate the amount of consumer’s surplus that each country earns when there is no trade.

c) We can write the general surplus in one country as 
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 and the general shortage in the other country as 
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. Using these simple formulas, develop an expression for the size of the shortage in A-land, and the size of the surplus in B-land. 

d) Set the shortage in A-land equal to the surplus in B-land and solve for price. This gives you the world price, in effect!

e) How many widgets does A-land import from B-land?

f) What is the total societal welfare of each country when there is a possibility of trade? How does it compare with your answer in b)?
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